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According to the color of this sentence: She is dr'iving to work.

TRNGL: She is driving to work.

D The teenager

@ The ‘rr'avel'er' @ ?FOS

@ The waiter USE & PRINTING outside of eTOC are

@ The leader SN PR,
TRNG2: She is driving to work.

® isn't
TRNG3: She is driving to work.
@ school.

@ the playground.

® the supermarket,

@ the theater.

* HARGETEVT 2 A CTHRGRICERL TS > TAE L X 9, *Try to translate into English by yourself without
looking at the English part and say it out loud. Teacher must check their answer.
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According to the color of this sentence: Let' 5 90 out now. Itisn't r‘ammg any more.
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TRNGL: Let's go out now. It isn't raining any more.
@ go climbing
@ go_jogging

TRNG2: Let's go out now. It isn't raining any more.
@ windy
@ foggy
® stormy

TRNG3: Let's go out now. It isn't raining any more.

@ much,
@QTOC @ now,

USE & PRINTING outside of eTOC are ® even a little.
strictly PRORIBITED.

* HARGHIEIT 2 A CTHRGRICIRL TE > CAE L & 9, *Tryto translate into English by yourself without

looking at the English part and say it out loud. Teacher must check their answer.
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